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e i=2zeros(32,32);i(1:16,:) = 255;
e [m, n] = size(i); idx=ones(m,n);
o forj=1:m

o idx(j,:)=(-1)+(0:n-1);

e end

e transfer=(-1).7dx;

o f2=fft2(i.*transfer);

e (gauskFilter = fspecial('gaussian’,[m,n],6);
o filter=f2.*gauskFilter;

e i news=ifft2(filter);

e i_new_new=abs(real(i_new).*transfer);
e imshow(i_new_new);
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Matlab

e i=2zeros(32,32);i(1:16,:) = 255;

o ...... transfer=(-1).2idx;

o f2=fft2(i.*transfer,2*m,2*n);

e [m, n] = size(f2);

e idx=ones(m,n);

e forj=1:m

o idx(j,:)=(-1)*+(0:n-1);

e end

e transfer=(-1).7dx;

e gausFilter = fspecial('gaussian’,[m,n],6);
o filter=f2.*gauskFilter;

e i_news=ifft2(filter);

e i_new_new=abs(real(i_new).*transfer);
e imshow(i_new_new);
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